Some Future Engineers

WHOOP !
“Why 1is the Physics .class: like a
regiment of cavalry?”
“They passed in review on ponies.”

“Why 1s Adams like a series mo-
totr s
“Because he gives so much torque
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The College Widow

Prof. Riggs—What i1s the “radius
of oscillation” in this problem?

Hall, 09 (an innocent looking lad,
in truth)—I1 find the radius ot oscu-

lation to be three inches.
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Isn't He Cute? This is an early photo of
our Crack 1st Baseman

Math. Prof.—If “n” men do a cer-
fain piece of work 1n a given time,
1 b

how long will it take “r” more men
to do the same work?
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Freshman—Why, suppose Ar-
mour men could do 1t in a much
shorter time.

- Ebert gets 'em all cut.



